Digitzer Counts

A/D counts

13mar08 Pdev Input: A/D counts vs rms input voltage
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13mar08 Spc of 31Mhz Sine wave. Pk A/D=2019 cnts (pshift=0xT1ffe)

80

60

40

20

(@)
—O—F\‘\\\‘\\\‘\\\‘\

Q digitizer set to O

.1 second average

IR .

H—F\‘\\\‘\\\‘\\\‘\

—-50 o) 50
Freq [Mhz]

Pk A/D=414 cnts (pshift=0x1ff5)

80 —
60— —
40 —
20 —
07 “ Lt L L “ “ . . Ll Bl
—-50 0 50
Freq [Mhz]
Blowup Pk A/D=2019 cnts (pshift=0x1ffe)

80 —

- Ratio (linear) PkSpcChnPwr:5.92 .
60— Ratio A/D Pk Counts: -

- (2019/414)2/4 =5.95 .
YOL /4 from pshift Ox1ff5—>0x1ffe E
20 —
07 | L L L L —|—|—‘ n n n Il ]
30.0 30.5 31.0 31.5 52.0

Freq [Mhz]
Blowup Pk A/D=414 cnts (pshift=0x1ff5)

80 —
60— —
40 —
20 —
O:‘ | L L L L \—‘ L n n n | ]
30.0 30.5 31.0 31.5 52.0

Freq [Mhz]



